# कार्यालय प्राचार्य शासकीय नवीन महाविद्यालय आरा जिला जशपुर (छ०ग०)

क्र0 / 1022/2019 प्रति,

आरा दिनांक 13/03/2019

सहायक आयुक्त,

आदिवासी विकास

कार्यालय कलेक्टर (आदिम जाति कल्याण शाखा)

जिला-जशपुर छ.ग.

विषय:- सत्र 2018-19 के कक्षावार छात्र/छात्राओं की छात्रवृत्ति के KYC जाकारी भेजने बाबत्।

---00---

उपरोक्त विषयांतर्गत लेख है कि इस महाविद्यालय के सत्र 2018—19 की कक्षावार छात्र/ छात्राओं की KYC तथा ड्राफ्ट प्रप्रोजल एवं सेक्सन आर्डर की जानकारी निर्धारित प्रपत्र में तैयार कर आपकी ओर आवश्यक कार्यवाही हेतु भेजी जा रही है।

संलग्नः KYC ड्राफ्ट प्रप्रोजल एवं सेक्सन आर्डर।

बी.ए.प्रथम वर्ष छात्र/छात्राओं की संख्या- 0.1

बी.ए.द्वितीय वर्ष छात्र/छात्राओं की संख्या- 0

बी.ए.अंतिम वर्ष छात्र/छात्राओं की संख्या- 03

बी.एससी.प्रथम वर्ष छात्र/छात्राओं की संख्या- 10

बी.एससी.द्वितीय वर्ष छात्र / छात्राओं की संख्या- 05

बी.एससी.अंतिम वर्ष छात्र/छात्राओं की संख्या- 01

एम.एससी.प्रथम वर्ष छात्र / छात्राओं की संख्या— 18

38





### action Register for Scholarship

Jovernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVEEN COLLEGE AARA

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: R/8/2094/3/10/86669

Sanction Date : 11/03/2019 Applications Type : Renewal

ation ID Student Name	Gender	Course	Туре	No. of	Rate Mai Al	ntenence Tu lowance	iition Fee 0	ther Fee	Total Fee To	tal Amouni
694562 Tamneshwari Singh	Female	B. A./Arts/III	Renewal	10	85	850	150	2079	2229	307
1231300 SUNIL SINGH	Male	B. A./Arts/III	Renewal	9	70	630	150	2079	2229	2859
1568719 JAYLALITA SAI	Female	B. A./Arts/III	Renewal	10	85	850	150	2354	2504	3354
1333167 LALITA BAI	Female	B. Sc./Science/II	Renewal	10	85	850	150	2019	2169	3019
1345443 MAHANAND SAI	Male	B. Sc./Science/II	Renewal	9	70	630	150	2019	2169	2799
1347720 DAYANAND SAI	Male	B. Sc./Science/II	Renewal	9	70	630	150	2019	2169	2799
1362701 EASANTI SAI	Female	B. Sc./Science/III	Renewal	9	85	765	150	2019	2169	2934
					Total:	5205	1050	14588	15638	20843

aration	

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from
serial no. 1 to I do here by sanctioning a sum of RsOut of which Rsas maintenance allowance and Rsas tuition and other fees. Printed copy of online
scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the
candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts
any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

NE

Page 1/1

आरो, जिला-जशपुर(छ0ज0
This Sanction is generated by Scholarship Portal. Printed on 3/12/2019

## ction Register for Scholarship

vernment of Chhattisgarh

Scholarship Scheme : Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. NAVEEN COLLEGE AARA

Academic Year: 2018-19

ent of Chhattisgarh State:

Sanction Number : R/8/2094/1/9/86667

11/03/2019 Sanction Date : Renewal Applications Type :

2169 1398863 PARWATI BAI B. Sc./Science/II 2700 150 2019 4869 2169 2700 2019 150

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ....as tuition and other fees. Printed copy of online .....as maintenance allowance and Rs. ... .....Out of which Rs..... serial no. 1 to ...... I do here by sanctioning a sum of Rs. .... scholarship form attached with certified copy of mark sheet of passing introducing some standard form all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. प्राचार्य

Place: Date :

NIC

Page 1/1

भ्रारा,जिला-जशपुर(छ०ग० This Sanction is generated by Scholarship Portal. Printed on 3/12/2019

(Signature & Sag of Head of the Institution) Name (Capital Letens Fild Elicity) अस्य जिला

#### ction Register for Scholarship

overnment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVEEN COLLEGE AARA

Academic Year: 2018-19



Sanction Number : N/8/2094/3/10/86668

Sanction Date :

Applications Type : Fresh

cation ID Student Name	Gender	Course	Туре	No. of Month		tenence Tuit wance	on ree Ou	er Fee Tol	2169	2934
1506315 SHASHIKALA SAI	Female	B. Sc./Science/I	Fresh	9	85	765	150	2019	2169	2934
1534410 ROOPWATI SINGH	Female	B. Sc./Science/I	Fresh	9	85	765	150	2019	2229	3079
1554460 PUJA RANI SAI	Female	B. Sc./Science/I	Fresh	10	85	850	150	2079	2169	2934
1576191 ARADHANA BAI	Female	B. Sc./Science/I	Fresh	9	85	765	150	2019	2169	2799
1581798 LALMOHAN SINGH	Male	B. Sc./Science/I	Fresh	9	70	630	150	2019	2169	2934
1585672 SUNITA BAI	Female	B. Sc./Science/I	Fresh	9	85	765	150	2019	1166	2166
782530 SUKHDEV RAM	Male	M. Sc./Botany/I	Fresh	10	100	1000	126	1040	1166	2166
1159785 LAXMEE BAI	Female	M. Sc./Botany/I	Fresh	10	100	1000	126	1040	1166	2066
1311230 RAGHUNATH RAM	Male	M. Sc./Botany/I	Fresh	9	100	900	126	1040	2169	2934
1586060 INDRAWATI BAI	Female	B. Sc./Science/I	Fresh	9	85	765	150	2019	2169	2799
1606035 ANANT KUMAR	Male	B. Sc./Science/I	Fresh	9	70	630	150		2229	2929
1610570 NANDLAL SINGH	Male	B. Sc./Science/I	Fresh	10	70	700	150	2079 1040	1166	2166
178216 SHUBHAM RAM	Male	M. Sc./Botany/I	Fresh	10	100	1000	126	1040	1166	2166
515039 RAMAKANT YADAV	Male	M. Sc./Botany/I	Fresh	10,	100	1000	126	45.4	1166	2166
	Female	M. Sc./Botany/I	Fresh	10	100	1000-	126	1040		
542783 POONAM KUMARI		Chapter for 1 construct or observe or works			Total:	12535	2106	24531	26637	39172

Dec	a	rat	ic	n	:

अंशिक्षाम् १ अविक्रिम् विकास (Institution) अंशिक्षाम् (अविक्रिम् विकास प्राची अविक्रिम् (अविक्रिम् विकास अविक्रिम् (अविक्रिम् विकास

Place: Date:

Page 1/1

## .cion Register for Scholarship

vernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVEEN COLLEGE AARA

Academic Year: 2018-19



nction Number : R/8/2094/2/7/86665 11/03/2019

Sanction Date: Applications Type : Renewal

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1401378 ANAMIKA XALXO	Female	B. Sc./Science/II	Renewal	10	300	3000	126	2019	2145	5145
1			-beig a second of	Assessment of the second	Total:	3000	126	2019	2143	

#### **Declaration:**

REC

Page 1/1

## action Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name : GOVT. NAVEEN COLLEGE AARA

Academic Year: 2018-19



Government of Chhattisgarh

Sanction Number : N/8/2094/2/7/86638

Sanction Date: 12/03/2019

1452627 Samarpan Xalxo	MAN	Course	Type	No. of Month	Rate Ma	intenence Howance	Tuition Fee	Other Fee	rotal Fee To	tal Amour
1568865 DILEEP KUMAR SIDAR	Male	B. A./Arts/I	Fresh	10	300	3000	150	2079	2229	52
168284 PREETI MINI	Male	B. Sc./Science/I	Fresh	10	300	3000	150	2079	2229	57
173496 SUJEET PANNA	Female	M. Sc./Botany/I	Fresh	10	530	5300	150		1166	64
The state of the s	Male	M. Sc./Botany/I	Fresh	10	530	5300	126	1040	1166	64
174387 PUNAM XALXO	Female	M. Sc./Botany/I	Fresh	10	530	5300	126	1040	1166	64
174502 SHYAM KUMAR	Male	M. Sc./Botany/I	Fresh	10	530	5300	126	1040	1166	64
1609653 GULABI KUJUR	Female	M. Sc./Botany/I	Fresh	10	530		126	1040		
530260 SUMAN KUJUR	Male	M. Sc./Botany/I	Fresh	10	530	5300	126	1040	1166	64
538235 Suneel Bhagat	Male	M. Sc./Botany/I	Fresh	10	530	5300	126	1040	1166	64
588647 NAMITA BAI	Female	M. Sc./Botany/I	Fresh	10	530	5300	126	1040	1166	64
1215124 ROOPDHAR RAM	Male	M. Sc./Botany/I	Fresh	0	530	5300	126	1040	1166	64
223013 HEMANT KUMAR	Male	M. Sc./Botany/I	Fresh	10	530	4770	126	1040	1166	59
235508 DEV PRAKASH SAY	Male	M. Sc./Botany/I	Fresh	1- 0	530	5300	126	1040	1166	64
and the state of t	management for management of the second	and the same of th		L	Total:	4770	126	1040	1166	59

Dec	la	ra	ti	o	n	:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of RsOut of which Rsas maintenance allowance and Rsas tuition and other fees prints the serial no. 1 to
scerial no. 1 to I do here by sanctioning a sum of Rs
serial no. 1 to I do nere by sanctioning a sum or its
candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise, discontinuous sources of the
candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues of the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

end from the period it is detected.
प्राचारा
हिन्नास्त्रकार बरीन ब्लाह्मकिद्यालाव stitution)
भाए, जिला किर्मुर (छ० ग०

NIC

#### Sanction Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name : GOVT. NAVEEN COLLEGE AARA



on Number : N/8/2094/1/9/86666 Sanction Date : 12/03/2019

plications Type: Fresh

Academic Year: 2018-19					OF	her Fee		The second
Application TO Student Name 1570692 POOJA BANDEY	Gender Course Female M. Sc./Botany/I	Type No. of- Month Fresh 1	Rate Ma A 0 530 Total :	Ilowance 5300	o o	1040 1040	1040 1040	

Declaration:	Dec	aratio	n:
--------------	-----	--------	----

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from प्राचार (Signature & Seal of Head of the Institution) भवात (apida terefficial end भवात (apida terefficial end आरा, जिला-जशपुर(छ०ग०

Place:

Date : PHE

Page 1/1